






∫ ∫ =

=
∆

∆

∫ ∫ ∫ ∫= = ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅ ⋅ ⋅ ⋅

π

ϕ π ε ε π

ε ε π



∫ ∫ = = ⋅ = ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅ = ⋅ ⋅ ⋅

= + = ⋅ + ⋅ = +( ) ⋅ ⇒ = ∑



I

I

I

Parallelschaltung:

C

UC

IC

C1 C2 CersU

I

Schaltzeichen:
Kapazität allgemein

C

Dreh-Kondensator (Drehko)

C

Elektrolyt-Kondensator (Elko)

U
I1 I2

Reihenschaltung:

C1 C2

U U

Cers

a)  b)

= = + = + = + ⋅ ⇒⇒ =
∑

= ⋅∫





Lastmodell
- Reibung
- Luftwiderstand
- Steigung/Gefälle

Fahrzeugmodell
- Fahrzeugmasse
- Drehmassenzuschlag

Antriebsmodell
Motorkennlinie+Getriebe
--> Fahrzeugkennlinie
- Wirkungsgrad
- Ersatzzeitkonstante

Fahrermodell
- sportlich/

zurückhaltend
- Trödelfaktor

Fahrzyklus
- zeitbasiert
- wegbasiert
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% Abb_7_3_dat.m  Einfaches Fahrzeug-Längsmodell 
% Simulink-Modell:  Abb_7_3_mod.mdl  
%  
clear all  
% Sollwerte  
Tsoll=[0 10 20 30 40]; % s Zeitbasis  
vsoll=[0 10 10 0 0]/3.6; % km/h -> m/s Sollgeschwindigkeit  
% Modellparameter E-Smart Roadster  
m=1300;     % kg Fahrzeugträgheit  
Fmax=2500;  % N Maximalkraft  
rho=1.3;    % kg/m^3 Dichte Luft  
cw=0.42;    % Luftwiderstandsbeiwert  
A=1.6;      % m^2 Querschnittsfläche  
FR=80;      % N Reibung  
eta=0.8;    % Wirkungsgrad  
Kp=500;     % Ns/m Fahrermodell  
% Simulationsparameter  
simulation_opt=simset( 'Solver' , 'ode5' , 'FixedStep' ,1e-2); 
Tsim=max(Tsoll);   % Simulationszeit  
% Simulationsstart  
[x,y,t]=sim( 'Abb_7_3_mod' ,Tsim,simulation_opt); 
% Darstellen  
figure(1); title( 'Einfaches Fahrzeug-Längsmodell' ) 
subplot(3,1,1); hold off ; plot(Tsoll,vsoll, 'k--' ); hold on; 
plot(ts,vs, 'k' ) 
xlabel( 't in s' ); ylabel( 'v in m/s' ); legend( 'Soll' , 'Ist' ,1); 
axis([0 max(Tsoll) 0 1.1*max(vs)]); 
subplot(3,1,2); plot(ts,xs, 'k' ); xlabel( 't in s' ); ylabel( 'x in m' ); 
axis([0 max(Tsoll) 0 1.1*max(xs)]); 
subplot(3,1,3); plot(ts,Ws, 'k' ); xlabel( 't in s' ); ylabel( 'W in Ws' );
% Verbrauchsabschätzung  
n=length(Ws);   % Länge des Ergebnisvektors  
Ws_end=Ws(n);   % Energiebedarf der Strecke  
W_100=Ws_end/3.6e6*100e3/xs(n) % in kWh / 100 km  
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